
Consider the following sum:• + 1• + 2• + •3 + •1
 = 21• In the above sum, • stands for
a. 4
b. 5
c. 6
d. 8

How many diagonals can be drawn by joining
the vertices of an octagon?
a. 20
b. 24
c. 28
d. 64

A train 200 metres long is moving at the rate 
of 40 krnph. In how many seconds will it cross
a man standing near the railway line?

What was the approximate ratio of sheet steel 
and scrap steel imports in the first three months
of the year?

a. 12
b. 15
c. 16
d. 18

a. 1 : 1
b. 1.2 : 1
c. 1.4 : 1
d. 1.6 : 1
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